14.3 Green Gauss Stokes

Green
1 I(x+ y)2dx — (x? + y*)dy L A1), B(3,2), C(2,5)
L
2 jxyzdx—xzydy L x> +y® =a’
L
3 I(xzycosx+2xysinx—yzex)dx+(x2 sinx—2yex)dy L
LE 2 2
x3+y3=ad(a>0)
4 Iex[(l—cos y)dx —(y —sin y)dy] L y =sinx (0,0)
L
(7,0)
5 I(xz—y)dx—(x+sin2y)dy L x* +y? =2x
L
(0,0) (2,0)
6 ”exsiny—b(x+y)]dx+(excosy—ax)dy a,b L
L
A(2a,0) y = +/2ax — x° 0(0,0)
dy — ydx
7 [ L 1,0 R
J; 4x* +y? 40)
R>1
8 J‘(X_Y)d)2(+(x‘2"4y)dy L X2 +y? =1
1 X“+4y
9 jex[(xsin y — ycos y)dx + (xcos y + ysin y)dy] L
4 x* +y?
1 I(x+ y)2dx —(x* + y*)dy = ”(—4x—2y)dxdy
L D
2 p4x-3 3 el1-3x 140
= _ZL de';(M) (2x+y)dy — ZL dxj'i(m) (2x+y)dy = 3

2 '[xyzdx —x?ydy = ” (—2xy — 2xy)dxdy = —4]02”sin @ cos 6?d6?'[: ridr =0
L D

3 J(xzycosx+ 2xysin x — yzex)dx+(x2 sinx — 2yex)dy
L



:Hdedy:O
D
4 L,:y=0,x0->7x

_|'eX [(@—cosy)dx —(y —siny)dy]= J'DjeX ydxdy = joﬁexdxj':nx ydy =

L+L;

e” -1

J'ex [(1—cos y)dx —(y —sin y)dy]

L

- Iex[(l—cos y)dx —(y —siny)dy] + el _er-l
L, 5) 5

5 L,:y=0,x:0>2
j(x2 - y)dx—(x+sin2 y)dy :Jj(l—l)dxdy =0
D

L+L;

J.(X2 — y)dx—(x+s,in2 y)dy = _[(x2 — y)dx—(x+sin2 y)dy :j02x2dx =%

L L,

6 L,:y=0,x:0—>2a
I[exsin y—b(x+ y)]dx+(excosy—ax)dy=”(b—a)dxdy :%az(b—a)
D

L+L,

Hex siny —b(x+ y)]dx+ (eX cosy — ax)dy

L

:%az(b—a) - _[[exsin y —b(x+ y)dx + (e* cos y — ax)dy

Ly

T 2 2a Ty 2, 7 _3
=@ (b—a)+bfo xdx=(2+-)a’h-—a
X
7 P(x,y):—4xzy+y2 QY =
P_y -4
oy  (4x*+vy?*)?  ox
L,:4x*+y*=1 Green
J-xdy—ydxzjxdy—ydx
L Ax% +y? 0 Ax* +y°

X =%cost, y =sint

J~xdy— ydx J~ xdy — ydx

b L — :jz”(lcoszuisinzt)dt:;z
| AXC+y 4%° +y o "2 2

L

8 P(x,y) =

X—y X+4y
b Xl =
x* +4y? Q(x.Y) x* +4y?



oP 4y’ -8xy—-x* _aQ

oy (x2+4y?)?

L,:x*+4y° =1 Green
.[(X_ y)dx+ (x+4y)dy J- (x=y)dx+(x+4y)dy
x* +4y° X2 +4y?

1.
X =cost,y zasmt

(Xx=y)dx+ (x+4y)dy (x—=y)dx+ (x+4y)dy
j I SR

x* +4y? x* +4y°
9 P(x,y) = ex(xsinzy— )gcos y) Q(x.y) = ex(xcoszy+ Zsin y)
x> +y x> +y
P [(xX* +y*)x+y? —x*]cosy+(x* +y?—2x)ysiny 0Q
R (< +y?)? S
L, x2+y?=r? x=rcost,y=rsint,t:0 -2z,  Green
e*[(xsin y—ycos y)dx+(xcosy + ysin y)dy]
_[ X2+ y?

I “[(xsiny— ycosy)dx+(xcosy+ysmy)dy]
g X+ y?

I:_[ e*[(xsiny - ycosy)dx+(xcosy+ysmy)dy] ,[ &7 cos(r sint)dt

g X% +y?
r—-0
| =27
1 x=acos’t, y=asin®t
2 (x+y)*=ax(a>0) x
x =a(t-sint),
3 ( ) t €[0,27] x
y = a(l-cost),
2
1 Szlj'xdy—ydx=3ij2 sin tcos” tdt = > a’
27 2 Jo 8
t
2 =tx x=—2 Y = a t:0 >+
Y Y (1+t)2 ”
S=—|ydx=2a’ d—
{y o (1+t)5 6"

1 a2 2r . 2
3 S =EJL‘xdy—ydx:?Io (2—tsint—2cost)dt = 37a

Jiyo (x= ) —dy)



Ji,, 2 (x)dx + g(y)ay o(x), 4(y)
(6.8 Xdx + ydy

1 P(x,y)=x-Y,Q(X,y)=—(x-y)
kP__4_R

8y_ X
L:y=x,x:0>1
fon (x= y)(dx ~dy) =0

2 P(X,y) = 9(x), Q(x, y) = 4(y)

®_,_Q
ay OX
L: ABC A(21), B(L1),C(12)
2 2
[l o()dx+ g(y)ey = [Lp(x)dx+ [ (y)dy = [7I6(0) - (0]l
3 P(X,Y)=— Q. Y) = ——
oP Xy aQ
-2 -
> 0
Yoy
L: ABC A(L0), B(6,0),C(6,8)
(6.8 Xdx + ydy J s I - ydy
(1,0) IXZ + y 0 '36"‘ y
(2xcosy + y* cosx)dx + (2ysinx — x* sin y)dy Xy
P(x,y) = 2xcosy + y>cosx, Q(x,y) = 2ysin x— x’sin y
P» =—-2XSiny+2yCcosXx = Q
oy 0
(2xcosy + y? cosx)dx + (2ysin x — x* sin y)dy Xy

u(x,y)
u(x,y) = I((Oxoy)) (2xcos y + y® cos x)dx + (2ysin x — x*sin y)dy + C

= jox2xdx+joy(2ysin X—x?siny)dy = x*cos y + y?sin x+C

xdx + ydy

X2 4 yz Xy

X
P(x,y) = 1y




P___ 2y R
oy  (xX*+y*)?* ox

xdx + ydy
x* +y? Xy
u(x,y)
) Xdx + ydy xdx y ydy 1., >
u(x,y) _J.(O,l) X+ y? IO 241 L VY —2|n(x +y9)+C
6  Qxy) x [ 2xydx+ Q(x, y)dy
L

t
(t,1)2 d dy = (1,t)2 d d
o2 2xyee-+ QEx, )y = [ 2xydx + Q(x, )dy

Q(x,Y)
Jnydx+Q(x, y)dy @: 2X
! OX
X Q(x,y) = x> +o(y) @
(t,1) 1zt)
LO’O)nydx +Q(x,y)dy = '[(010) 2xydx + Q(x, y)dy
1 t
[, +o(y)dy = [ @+ o(y)dy
t 2t=1+¢(t) p(y)=2y-1
Q(x,y)=x*+2y-1
7 ) x>0 r(xy)=2xy(x* +y?)"i
—x2(x* +yH)j u(x,y) u(x,y)
al2xy(x* +y*)*1 o (x" +y*)’]
oy OX
2X(X* + Yt +AAxyA(x* + y) P = 2 (X + y2)t AP (xt + y )M
A=-1
X, 2 2
u(x.y) _I( y) 2xydx x“dy C——jy x“dy e —arctanlz+C
L0) x* +y o x* +y X
8 F =(3x°y+8xy?)i+ (x* +8x*y+12ye’)j

P(X,y) =3x?y +8xy?, Q(x,y) = x* +8x*y +12ye’

P 3y +16xy _Q
oy X

9 Gauss
1 _U x*dydz + y?dzdx + z°dxdy = 0<x,y,z<a
z



2 _”(x—y+z)dydz+(y—z+x)dzdx+(z—x+ y)dxdy 2
2

[ X=y+z|+|y-z+Xx|+|z=-x+Yy|=1
3 If(x2c03a+y2cosﬂ+ zzcos;/)ds > 72 = X% +y?

3

z=0 z=h(h>0)
4 ﬂ xdydz + ydzdx + zdxdy > z=+R*—x" -y
z

5 ﬂ 2(1— x?)dydz + 8xydzdx — 4zxdxdy > Xy

z

x=e’(0<y<a) x

6 ”(2x+z)dydz+zdxdy > z=x*+y> 0<z<1
z

z
7 axdydz + (a + z) dxdy
_[_[ (X2+y2+22)l/2
z
7= _ /az_xz_yz
xdydz + ydzdx + zdxdy
8 _U 2 2 2\3/2 2
(X“+y“+2°)

a>0 >

z

i x> +2y? +3z° =1

PR 2 M | AR
5 16 9

1 Q =
” x*dydz + y*dzdx + z*dxdy

z

= J‘g.[IZ(x + Y+ z)dxdydz = GIOa de'OadyJ‘Oa zdz =3a*

U=X-Yy+z

) _— P IV=Y—7+X
W=z-X+Yy

Sern o 9 a-fuvw)| epeplsy o

” (x—y+2)dydz + (y — z+ x)dzdx + (z — x + y)dxdy
z

= Igj;j3dxdydz = I(J;J.%dudvdw = 6J;ﬂdudvdw =1



3 ¥, :z=h(x*+y*<h?) Q I+3,
Q HI xdxdydz = m‘ ydxdydz =0 Gauss
Q Q

”(xz cosa + y>cos B +12° COS}/)dS = ”J.Z(x + Y+ z)dxdydz
Q

I+

- Zjﬂ zdxdydz = 2[02” d@_[oh rdr I rh z2dz = % h*

ﬂ(xz cosa + y® cosf+z° cos;/)dS

z

:%h“ —J;lj(xz cosa + y2cos B + 22 cos;/)dS

4 ¥, :z=0(x*+y® <R?) Q Z+3
Gauss
H xdydz + ydzdx + zdxdy = ”._[3dxdydz = 27R®
Q

I+Z,

” xdydz + ydzdx + zdxdy = 22R® — ” xdydz + ydzdx + zdxdy = 27R®

2 Zy
5 Z:x:eW(y2+22§a2)
T x=e*(y*+z°<a’) Q I+3,
Gauss
”2(1— x*)dydz + 8xydzdx — 4zxdxdy = J._Udedydz =0
Q

I+3

”2(1— x*)dydz + 8xydzdx — 4zxdxdy = —”2(1— e’*)dydz = 27a* (e —1)
T %

6 T, rz=1(x"+y* <)) QO T+3,
Gauss
d 3
2.[.L(Zx + z)dydz + zdxdy = —.[gj;f3dxdydz = —3j02 dgﬁ rer'rlz dz = —
H(Zx + z)dydz + zdxdy = _E,z _ .Uldxdy __r
b3 2 Y 2
5

”axdydz+(a+ z)*dxdy _ 1
£ (X2+y2+22)l/2 a
¥, :z=0(x*+y*<a’) Q Z+3

I J' axdydz + (a+ z)*dxdy

z



Gauss
” axdydz + (a+ z)*dxdy = — m.(3a + 22)dxdydz
Q

I+

=-2m" —27:_[_0 z(a® —-z%)dz = —gna“

”axdydz +(a+z)*dxdy = —gna“ —J;lfazdxdy = —%na“

z

——72,'8.3

(X2+y2+22)1/2 2

8 i r=+x®+y?+2° ”dedz+dedx+ Rdxdy

%

” axdydz + (a+z)?dxdy 1
z

oP_r’-3* aQ _r’-3y* oR_r’-3z°

OX re oy r oz re
2={(x,Y, z)‘x2 +yi+2%=¢%} Q Z+(-2)
Gauss
[[ Pdydz +Qdzdx+ Rdxdy = [ (@+@+@)dxdydz =0
sior) o Ox oy oz
cosa zi,cosﬂ :l,cos;f _a
r r r

3 3

” xdydz + ydzdx + zdxdy ” xdydz + ydzdx + zdxdy
b3 r x r

= izﬁ cos adydz + cos fdzdx + cos ydxdy
& 5

= %JJ (cos® a +cos” f+cos” y)dS = g—lz.g dS =4r

X =é&singpcosd
> y =¢&singsing
Z=¢£C0SQ

(p,0)eD'={0<p<7,0<0<L2r1}

” xdydz + ydrzgdx + zdxdy _ ” xdydz + ydrzgdx + zdxdy _ ﬂsin odpdd = 4z
s z >



x-2* (y-1° _,

i ' ={(x, Y, z)‘ T 5 2=0—{(X,y, z)‘x2 +y2<e?z=0}
={(x,y, z)‘x2 +yi+z2=£2220} Gauss
” xdydz + ydzdx + zdxdy 0
434t re
” xdydz + ydzdx + zdxdy _ j .[ xdydz + ydzdx + zdxdy
3 3
s r b r
= % ” cos adydz + cos fdzdx + cos ydxdy
"
_ 1 2 2 2 _ 1 _
_?J‘J,(cos a +C0s° f+cos” y)dS _?gds =27
X =é&sinpcosé
=" y =¢&singsing
Z=¢£C0SQ
(,0) e D"={0S(/)S%,OS6’S 27}
H xdydz + ydzsdx + zdxdy _ ” xdydz + ydzsdx+ zdxdy _ Hsin odpdd = 27
= r -z r D"
10 Gauss
Xy z (X, ¥,2)
ds n (x,y,2)
Y2
dF = pzdS

dF, = pzcos(n, x)dS, dF, = pzcos(n, y)dS,dF, = pzcos(n, z)dS

Gauss
F.=p '[zcos(n,x)dS =0,F, =p '[zcos(n, y)dS =0
z z



F,=p Izcos(n, z)dS = p”jdxdydz = pV
) Q

11 V = yzi + Xzj + xyk
1 x> +y><a®, 0<z<h
2
1 T, :2=0 (X*+y’<a’) T,:z=h(xX*+y*<a’)

D X%, Xxy
”vdS = —”xydxdy =0 ”vdS = nydxdy =0
D D

2 2y
Gauss
”vdS = Hdedydz =0
PREDNE DI Q
[Jvds =0
z
2 1 [[vds =0
z
12 Stokes

1 Iydx+zdy+xdz L x> +y?*+z7*=a’° X+y+2=0

L

X

2 ISzdx+5xdy—2ydz L x> +y? =1 Z=Yy+3

L

z

3 §(y—z)dx+(z—x)dy+(x—y)dz L x? +y*=a’

L

X z
5+F:1(a>0,h>0) X

4 j(yz—zz)dx+(zz—x2)dy+(x2—yz)dz L x+y+z:g

L

0<x,y,z<1 X

5 j(xz—yz)dx+(y2—xz)dy+(22—xy)dz L

L

X=acosep y=asing, z= Zlgo A(a,0,0) B(a,0,h)
T

10



6 j(yz—zz)dx+(222—xz)dy+(3x2—y2)dz L X+y+2=2

L

| x|+]yl=1 z
1 T L X+y+z=0
Stokes
dydz dzdx dxdy
0 0 0
ydx+zdy+xdz = ||| — —  — |=-||dydz + dzdx + dxdy
! 0% 5 &
y z X
= —\/§”d8 = —/3m?
z
2 > L 7=y+3
s J2 1 Stokes

dydz dzdx dxdy

0
.|'32dx+5xdy 2ydz_” P a_y az ” 2dydz + 3dzdx + 5dxdy
3z 5x -2y
= ”(0 )dS 2
3 ¥ L L |
a h
Stokes

j(y z)dx+ (z—x)dy + (x— y)dz_—ZJ.J.dydz+dzdx+dxdy

= 2f[ 2 34N 45— _2zm(a+h)

s va? +h?
3
4 > L x+y+z:z
) 1 Stokes
V2

I(y2 —z%)dx + (2% = x%)dy + (x* — y*)dz

L

= —ZH(y + z)dydz + (z + x)dzdx + (x + y)dxdy

:——”(x+ y+2)dS _—2fjjds -2

Xx=a
5 L,:{y=0 (t:0->h) Stokes
z=t
J‘(x2 —yz)dx + (y? — xz)dy + (z° — xy)dz =0
L+(-L)

11



J'(x2 —y2)dx + (y? — xz)dy + (z* — xy)dz = '[Oh z2%dz = %hs
L

6 = L
X Xy

” xdxdy = ” ydxdy = 0

D,y D,y

X+y+z2=2

D, = {0 y)| eyl <1

Stokes

[(y? = 2%)dx+ (227 = x?)dy + (3x* - y*)dz
L

—ZH(y +2z)dydz + (z + 3x)dzdx + (x + y)dxdy
z

- [l xr2y 3005 = [0y eycs

= —ij(x —y+6)dxdy = -24
D,

13 f(t) R
(x—a)*+(y—-a)’ =1

Ixf (y)dy —de >2r
1 f(x)

D={(x,y)| (x-a)’+(y-a)’ <1} Green

[t gy - sa= [ () +——)ddy

f(x)

=Lj(f(x)+%)dxdyzg2dxdy:27z

14 D
F(u)

oD
Green

D

gy 1
o(u,v) 2v

J‘%y =In2[" f(u)du

j%y = ” f (xy)dxdy

D, ={(u,v)Ll<u<41<v<4}

xy=1 xy=4
f(u)=F'(u)
u=xy,v=

Jacobi

jD [ £ Oyyealy = [ %dudv = ["f Wadu L‘%dv =In2[ f(u)du

Duv

12

> <



15

16

17

j (Xy) =In2[" f(u)du

2 I
”cos(n, NdS =0
z
n >
| =(a,b,c) n = (cos a,cos /3,C0S 7)
cos(n,l) = r;_”I_” ” (acosa+bcos f+ccosy)
Gauss
H cos(n, 1dS = ” ” Hadydz+bdzdx+cdxdy 0
Q h)

T =2 [feostr,mes
Q z
n > ,r=(XY,2) r=yx*+y>+17°

r-n 1
cos(r,n) = ——==(XCcoSa + yCOS S+ ZCOS y)
r r

” cos(r,n)dsS = J'J‘%(xdydz + ydzdx + zdxdy)
z z

i(ij_yﬂzz a(yj_x%z2 6(zj_x2+y2
= L= —|2|===,

ox\r r* oy\r r* ‘oz\r r
Gauss
1 dxdydz
= r,n)ds =
2_[gfcos( ) J‘ij' ;
P(X’ y’ Z)’ Q(X’ y’ Z) R(X’ y’z) R3
hX
”dedz+dedx+ Rdxdy =0
z
R? @ @ 2 =
T ox 9y o0z
oP 0Q OR
M, (X, Yoi2Zo) 5+8_3+5¢0
PLRLR) 5o P(x,2), QX y,2)  R(Y,2)
ox dy 0z),
£+@+@ r,c>0

oXx o0y o0z
(,.2) € Q= (X, ¥, D|(X=%,)2 + (¥~ ¥o)? +(2-2,)* <12}

13
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E+6Q+—>c>0

ox o0y o0z
Gauss

J"[ Pdydz + Qdzdx + Rdxdy = '[ ”(ap E;(y? z;Rdedydz

> J;J;jcdxdydz = §7zr3c >0

18 L XCOSa +YyCcos f+zcosy—p=0
D S (cosa,cos S,cosy)
. dx dy dz
S :EI CoOSa COSpf cosy
Hlox y z
L
Stokes
dx dy dz
ICOSO{ cosf cosy
X y z

= j(z Cos #—ycosy)dx + (xcosy —zcosa)dy + (ycosa — xcos f)dz
L

cosa cos S coSy
- 0 o o ds
S OX oy (674

ZCOS —yCOSy XCOSy—12COSa YCOSa —XCOS/f

= Z‘fj.(cos2 a +cos® B+ cos’ y)dS = ZHdS =2S
D D

. dx dy dz
S=§J. Cosa COosf cosy
Hlox y z

14



